DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 3)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

n) —1381.2 =3 =
32) —45650 + 10 =
333) —1072.2 -6 =
31 9287 + (—10) =
35 83.37 =7 =

330 —269.55 + (—9) =
51 1999.5 + 5 =

3% 88.35 + (—3) =
39 1066.6 +~ 2 =

3000 191.04 -8 =

1) —5336 = (—4) =
12) 2554 =+ (—4) =
13 —20232 + (—4) =
u1) 31700 = 4 =

) 51858 = (—6) =

Mathematics: Division - Level 6 - Horizontal - Set 3
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360)

13

—1637.6 = (—8)

—6870 = (—6)

— 48048 = (—6)

7617+ (—3) =

—474.16 -8 =

—32495 = (—5)

—1386.8 +4 =

—421.2 + (—1)

—3441.6 + (—6)

123.48 + (—6)
30009 =7 =
—44400 =+ 8 =
4524 +2 =
105.09 + (—3)

—3472 =7 =
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